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Paper : ZOO-HG-4016/Z00-RC-4016

( Genetics and Evolutionary Biology)
Full Marks : 60

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

FIRST HALF

1. Answer the following : (any seven)
1x7=7

were Tl ePTRe B fuxl ¢ (Rieeizal 95/9)

() What is epistasis?

qfarc@ﬁ@ﬁi?
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(i) What is allelomorph ?
afereTE e

(ii) What is chromosomal theory of
inheritance ?

i AT T F9

(iv) What is co-dominance ?

Z-geidret e

(v) At what stage does crossing over occur
in meiosis ?

FS Reemr @F wire fom Rivsm =32

(vi) What is sympatric speciation ?

felie cwifeaes &2

(viij What is mass extinction ?

R Rl e

(viii) Who postulated the theory of Natural
selection’? |

‘AFfod A ToIM (I SBR[ ?

(ix) What is bioclast?

A T2
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(x) The scientific name of Cro-Magnon Man
is

-5 TR (IRAS AN A |

2. Anéwer any four of the following : :
2x4=8

[ 4519 O A ¢

Write the difference between :

iy ol 8 |

() Genotpye and Phenotype
et SiF Iea

(ii) Recessive lethals and Dominant lethals

TSR AT HiF A ASF

(iij) X-linked gene and Y-linked gene
X-zee & o Y-ored o

(iv) Mendelian inheritance and Cytoplasmic
inheritance

COSeT I6If® WIE (P S IS

(v) Complete linkage and Incomplete
linkage

ool FTZENS] W% ST TS
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(vi) Interference and Coincidence

THCFA HIE A0

(vii) Somatic mutation and Germinal
mutation

MY BeolfIqE T TAACHIT T TerA{IdH

(viii) Continuous variation and
Discontinuous variation

wikiftzg iR i [t ewRd

3. Answer any three of the following :
5x3=15

wore At R e fofabre ©a] foral ¢

(i) What is extra-chromosomal inheritance ?
Write about the important features of
extrachromosomal inheritance.

IZerwERin IS [0 IpTEwetm Ixisifes
T bRz Raw foi

(ii) Write about the incomplete linkage of
Drosophilla melanogaster with suitable

diagram. 1+4=5
Toe Has TS g1 TRT S| FZeoR
Raca ferat
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(iii) What is speciation? Write a note on

the limitations of biological speciation.

| 1+4=5

yEifes Barm IFeE & 3@ taike el
YRR TRToR eoge aft (Gt o

(iv) Describe the modern theory of
evolution.

TRT Besifer Sy Toama A 3 31|

(v) Write a short note on human evolution.

TR FARTHR 87Fe «ft 5y (O |

(vi What is pleiotropic gene ? Describe the
phenomenon of pleiotropy with suitable

example. 1+4=5
Brergolie & [ Soge TWizIR QTS
G ARTHIR I 39|

(vi) What is multiple allele ? Write the main
characteristics of multiple alleles.
2+3=5
ifE At 72 e IFTe & gt 2 i A 32
e Iy sRePmE o

(viiij) Write the characteristics of modern
horse. S

g (R @REETR
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SECOND HALF

4. Answer any three of the following :
10x3=30

Ok fricar fofanrg ©el fordl ¢

(i) Describe the role of extinction on
evolution. |

FaRare Refer efier Ra dq 1|

(i) What is macroevolution ? Describe the
principles and mechanisms of macro-

evolution. 2+4+4=10
Z Rer e 2 Rerr NS wiw aifm®
[ 1

(iii) What is genetic variation ? Describe the
types and sources of genetic variation.
2+4+4=10

S PR B2 (T SRR AR WiF ©LH
R 2t 30|

(iv) What is fossil ? What are different types
of fossil ? Write a note on formation of
fossil. 1+3+6=10

Gy & 2 Rion ot Srrprz & & SR
151 @oixS it GBIt fordli |
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(v)

(vi)

(viy)

What is mutation ? What are different
types of mutation ? Describe the
consequences and significance of
mutation in animal life. 1+2+(3+4)=10

TesifRas 3feie [ ot 2 [iSn e Sesifiads-
7z & e S eoive TeifRadar ger

% SRR 99 10|

Write about the principles of genetic
mapping.

FARN Abad oot Moz Ram it

What is linkage ? Describe the
mechanism of linkage. Write about
the significance of linkage. 2+5+3=10

Ww%?WWMaﬁW|wm
SFPR ol |

(viii) Enumerate Darwin’s theory on

evolution. Write the difference between
Lamarckism and Darwinism. 5+5=10

RIS ForE ©IRORAY ASAM oA 9 |
CETRIT SIS G0 S 2SR o |
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